H £ 0l & AF & S

Al A

A nSHEL
M DESANM
el HSnsSAIEX (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
IME=S-LES ) 13,580,394 13,625,367 N44,973
= 49,000
[ 45,000
Jl 103,500
< 38,000
Al 13,344,894
=2 =Pl Eal 10,215,648 10,449,446 A233,798
= 49,000
s 45,000
Il 103,500
= 38,000
Al 9,980, 148
NS nsSAIEXE 10,215,648 10,449,446 N233,798
= 49,000
s 45,000
Il 103,500
= 38,000
Al 9,980, 148
oI ESXE 2 1,883,595 2,025,107 N141,512
) 103,500
Al 1,780,095
201 fet=23y| 2,640 2,640
02 S3=gHl 2,640 2,640
OBIRXMEAl AIAE FXI22=H
2,640,000 *14] 2,640
301 LELE NS 413,610 173,010 240,600
Jl 103,500
Al 310,110
14 IIEt2 83 413,610 173,010 240,600
OHI2MEAl =2 2=
365,610,000 * 14 365,610
) 81,900
Al 283,710
OBIRXMEAl &Y
2,000 «20E*10021* 12 48,000
Jl 21,600
Al 26,400
307 elzto| & 1,467,345 1,849,457 A382,112
05 21t =S 1,467,345 1,849,457 A382,112
Ol SXte 224l 2X(250)
2,014,605,875& *141%70% 1,410,225
OYXIEHAl 2HH| 2x=(20H)
3,400,000 <2CH 122 »7(fk 57,120
ZoHe! Sxtg 2 104,000 0 104,000




A nSHEL
M DESANM
el HSnsSAIEX (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 49,000
=S 24,500
Al 30,500
405 AtatE = 104,000 0 104,000
= 49,000
= 24,500
Al 30,500
01 ML ESFSHI 104,000 0 104,000
OFope! Sxt& 2 ((2th)
52,000, 0002 =2CH 104,000
= 49,000
= 24,500
Al 30,500
F5M 84S 2X= 7,710,000 7,800,000 /90,000
307 @120l & 7,710,000 7,800,000 /90,000
09 2FSHEXS 7,710,000 7,800,000 290,000
OKREAM HSEXZ(HALLSE)
7,710,000,000& *14] 7,710,000
BIAl SHHFBRACIANAE 2= 17,973 15,999 1,974
308 XXM SO0IH 17,973 15,999 1,974
18 SIS0t & A AS A 17,973 15,999 1,974
OHAIZHIE22CIANAE 2SI
17,973,000 x 14 17,973
SSEYA 29 125,000 122,500 2,500
[ 45,000
= 13,500
Al 66,500
201 Ler=23| 5,000 2,500 2,500
01 At2teltl 5,000 2,500 2,500
OSSEEAl 28 0I3d M=
1,250,0002 x4 71 5,000
307 21201 & 120,000 120,000 0
[ 45,000
= 13,500
Al 61,500
B 2=gHEXS 120,000 120,000 0
OZ33EE8Al 2EX&
5,000& x24,0000H 120,000
[ 45,000
= 13,500
Al 61,500
SHtE SE AE A 125,400 171,600 A\46,200
301 Eet2 NS 125,400 171,600 A\46,200
14 0Bt 2as 125,400 171,600 N46,200




A nSHEL
M pEsANA
el HESnsSAIEX EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=x ditz 28I A&
11,0002 *950CH* 123 125,400
Al 22 K& 185,000 310,000 /155,000
301 EtE2 NS 185,000 310,000 /155,000
14 0Bt 243 155,000 310,000 A155,000
Q20258 & SHA| 2 X2 AALY
31,000, 0002 =5CH 185,000
BAI2=SAL S 23 4,680 4,240 440
201 Ler23 | 4,680 4,240 440
01 At2t2ltl 2,640 3,040 2400
OHAdEH 28 =38 7Y
50,000& * 122 600
O=Al g =) g
30,0002 x 122 360
OSAl 2IE R012| AIAE 242
140,000« 12& 1,680
2 2229 2,040 1,200 840
OEAZSEMNT HE L HAISZE &)
2= 170,000& ~ 12 2,040
SAIZH K& 90,000 90,000
402 2IZtA=01d 90,000 90,000
02 QI AHZ AL E R (01X THE) 90,000 90,000
O ZEAl WHl XIZAIS (20243 CHIEXS
Z8) 1,000,000 *90CH 90,000
Hesgs(nsadgd) 3,361,386 3,172,561 188,825
WSHARES(RSHF L) 3,361,386 3,172,561 188,825
WSAHSER HE 3,361,386 3,172,561 188,825
701 JIEtRI NS EHES 3,361,386 3,172,561 188,825
01 JIEt=I AN ES 3,361,386 3,172,561 188,825
OuSAMESESA K& AN ZAIKS =
=4 (10%) 1,082,808,000& *14] 1,082,808
O20258 M=M= Ul olat 102,000
-2025E MR MEHSUHFH OH3lA tYI (R
HEM HH S) 50,000,000& * 14| 50,000
2025 d=YENSUHEN FQUSKE
WSSH 22l S 25,000,000 * 14 25,000
2025 d=dENSURN SIEFI1E
W =xt2el S 27,000,000 * 14! 27,000
O AHXH HES 2,176,578
-2026E 2 257 H(02l0],=01) MEE
At B9 88,578,000 x 14 88,578
AT UUREE o2 ARE2FUHE &2d
150,000, 0003 * 14! 150,000
-G ZGFIUE FIER 24
600,000,000 * 14 600,000
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